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25b (2 mawn) 2 260 (0w ,j2107 10 71 PR)

Note: a 771170 702 1152 belongs to the b2 and must be given to them. In any case, it may not be used for work (771129) oF
shorn (7r23); however, there is a distinction between a Apnn (without blemish) and o nowa. If it has developed a
permanent o — the details of om0 are presented in 1117133 1508, it may be slaughtered anywhere and eaten by anyone;
unlike a A0200 w2 1122 which is brought as a 277 and, like other 257 oW1, eaten only in 025wy (and only by p272).
Therefore, a 192051 1P 1132 is, ipso facto, not 13107 12 on V", The question dealt with in our X210 s if a o arises on the
711073 before V" but it wasn't properly inspected until v"?— whether it is 19197 1 and may be slaughtered and eaten.

L xmwn:if a nnna Mz fell into a pit on v
a. 77 "1 send an expert to see if he has a on; if so, you may slaughter (we may check v"va n'mn)
b. jwpw 1 if the D0 wasn’t seen before v, N¥pI (We may not check n’mn on V")
c.  Case chosen: is “fell into a pit” to counter the assumption
i.  That: due to n»n *ya 7vx we would find a loophole (a la yv1n ") to bring it out
ii. Challenge: why not phrase it “vWNW»n nYy> RY”?
1. Answer: case where he already took it out
iii. Challenge: how could he slaughter it? It is a DN
1.  Answer: a mn happened on v"»
2. Challenge: if so, it is not 12191 1N

a.  Answer: 721y D0 happened vy >became »1ap on V" ("1 that he had in mind)

II.  xpa:if a on 02 fell into a pit on V™
a.  w»wwi1amr 7 send an expert down to check (nmn> "13)
b.  xoim 12 pypw 1. forbidden to check on v™ (*"aw13), rather:
i. If a o occurred on vy, don’t check on V"
ii. If: a o occurred on V"V, ¥ maintains that it is not 1210 10
iii. A 1 Ypw “1agree: that if it was born with a o, it is 19
1. a7 .27 92 a7 if it was born with a oin, it may be checked on v
2. 77 father taught “if it was checked, that’s valid” (T2y7712) — not n%nn>%
3. »an(support 737): 3 clauses in Rn»2
a. Ist: Tayrais valid
b. 2m: even RY Tayr11 >
c. 3 even nvnnaY valid
4.  Challenge: ®ywIR "1 came with a mwn:
a. (»”): whether D occurred on v" or V1Y, not 1211 N
b. Answer: our Xna (above) is a corrupted version
c. 72171 (supports 379): our mwn supports this read —
i. w71 says if the mn isn’t recognizable before v, not 12170 1N
1. Must be: that there was some sort of DI, otherwise Rv'wa

a.  Therefore: must be that it hadn’t been checked on vy
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